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UNIT-1 

The Recurring Dream 

Summary 

Kimberly Clark was a young and beautiful lady. Although she worked in a large company and had a good position in her office, her 

life was not free of problem. She saw a mysterious dream about a person and place which were completely unknown to her.  

The dream always started on a country roadside which was linked to a white cottage through a lane. The lane had a white fence and 

hedge on its both sides. Through the lane, in her dream she used to go to the top of a little hill, where a white cottage with green shutters was 

situated. She used to enter the house in her dream and in one of the rooms found a little old man with white hair and white beards sleeping on a 

bed. When she used to go near that man he used to wake up but when she tried to talk with him she used to find herself awake in her bed in 

London.   

This dream caused a great problem for Kimberly as it was a recurring dream and she dreamed same thing every night. She told Janet 

Wilson, her roommate, about this. Janet, as a responsible friend, understood her problem and suggested her to go to her parents‟ farm. Kimberly 

readily agreed and they set for the journey.  

On the way to Janet‟s parents‟ farm in countryside, Kimberly saw the same cottage and lane that she had been dreaming along the 

country road. She went to the house in spite of her friend‟s warning. When she knocked the door the same little old man of her dream opened the 

door. She became afraid, but to her surprise the old man closed the door when he saw her. When she requested, he opened it a little and shouted 

at her saying her to go away from there. When she asked whether the house was on sale the old man told yes, but he was sure that she wouldn‟t 

buy that. She wanted to know the reason and was told that the house was haunted by a ghost. When she asked whether he had seen the ghost the 

old man told it was she.  

Thus, when the story ends it makes clear that the house was visited by the soul of Kimberly whenever she slept. It has tried to affirm 

that there is the separate existence of the supernatural element like soul.    

 

The Lost Doll 

Summary 

Maria del Carmen was the only child of Roberto and Rosa Soto. She was bright, beautiful, loving and kind. But unfortunately, she was 

sick from the day of her birth. As she grew she became sicker, and by the time she reached four, she died. As she was loved by all in the village, 

everybody came in her funeral and many of them remarked that she looked like a doll. 

The death of a loving daughter like Carmen was really a great loss for the Soto couple. It was also hard to overcome that grief because 

Rosa was told by the doctor that she would not be able to become mother again. Rosa wanted to forget that loss. Therefore, she gave all the 

remaining playthings and clothes of her daughter to a priest from one of the villages down the valley. When Roberto knew that, he became upset 

as he was hopeful to get another baby. He believed that it is only god, not a doctor, who knows every thing. Rosa expressed her view that it 

might be possible that the doctor did not know every thing but in the last four years they had already found  how difficult it was for her to 

become a mother again. However, Roberto, like a true believer, still told that the god did not bless them with another child because in those 

years she was busy with a sick child. 

As Roberto had hoped, just after a year of Carmen‟s death, Rosa gave birth to another daughter. At her birth Rosa realized that she 

looked similar to her late daughter. The priest named her Evangelina as she had brought “good news” for the couple. As she grew everybody 

found her appearance and activities similar to late Carmen. When she reached around four years, she started telling her mother that she was sick 

a long time ago. She insisted on it even if her mother told it was only her imagination. One day Rosa‟s sister came from Bogata. Like everyone 

she was also surprised at the similar look and manner of Evangelina and late Cramen.  When she asked about the lost doll to Rosa, Evangelina 

told she knew where the doll was. She led her mother and aunt in the backyard, under a big tree and told them to dig the stony ground there. 

When Rosa dug the ground they really found the lost doll there. When, Evangelina was asked by her aunt, she told long ago, she was very sick 

and fell asleep. Then “a real nice man” came and took her by hand. When he saw that doll in her hand he told her that she could not take that doll 

with her and helped her to burry that doll there.  

The narration of Evangelina made it clear to her mother and aunt that she was mentioning about the death of Carman. The incident 

established her identity as the reincarnation of Carmen. 

 

Carmen and Evangelina 

Carmen and Evangelina were not only bore by same parents but had a lot of similarities in appearance and gestures. Both were quite 

bright, beautiful, loving and kind. They looked similar to a doll. Their characters and behaviour matched and both of them were fond of doll. 

The only difference between them was that the former was sick from the day of her birth while the latter was hale and healthy. 

 

The House Call 

Summary 

 It was 9:30 pm of 26th December 1903. Dr. Emil Braun, a famous and senior German surgeon, was trying to have his dinner and write 

the notes about the surgery. On that day he had performed and supervised some critical operations for more than eight hours and was too tired to 

do anything.  

At the same time a girl of six or seven came to his door asking help for her mother, who according to her, was dying. The doctor at 

once became ready to go with her even if his wife showed some concern for him. He was a dedicated professional and believed that he should do 

whatever god put in front of him. When came out of the home he found that the girl had been walking quite ahead of him and in spite of his best 

attempt he could not catch that girl. The girl led him to the poorest part of Berlin onto the fifth floor of an old tenement building. The girl told 

that her mother was lying inside and thanked the doctor for the help. When the doctor went inside she closed the door behind him. 

When the doctor went inside, he recognized the sick lady as Elda, who at one time worked as a maintenance staff in the same hospital. 

She was suffering from pneumonia. The doctor gave her some medicine and tried to make her feel comfortable. He asked her whereabouts and 

wondered how big her daughter became. At this, Elda showed her surprise and told her only daughter, Adelheid, had died three months ago 

when she was just seven years and three days old. The doctor could not believe that because he had just been called by a little girl who told her 

mother was ill. Elda further told that the shawl and shoes of her late daughter, which she kept for the reminiscent, always made her feel that her 

daughter was still with her. The doctor got up and observed that it was the same shawl that the girl, who brought him there to attend a house call, 

had worn. The shoes on the floor were also wet by the rain outside. The doctor got assured that it was the ghost of Adelheid. 

 

The Loving Mother 

Summary 

 It is the story of a mother who took care of her child even after her death till the child was passed to a safe hand. The story is set in 

Japan. 
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 Shoji Sakota was a pharmacist living in the city of Sapporo on Hokkaido Island. He lived alone in a small apartment, which was 

attached to his drugstore. One winter night in 1964, while he was preparing his annual business report, he heard a knock on the door. It was mid-

night and the weather outside was stormy. It was quite unlikely for any customer to come in such condition and he thought whoever it might be 

must have seen the shop was closed. When he heard the knock for the second time he thought it was the noise made by the wind.  But the third 

knock definitely sounded like a human knock. Thinking it might be an emergency case, he looked out from the screen in the door. There was a 

young woman outside. He thought it might be a trick to rob. He told her to come on the next day. But when found her pleading a lot and telling 

that she needed help for her child, he got assured that she was really in trouble and let her come inside. 

 The woman had a strange look. She was abnormally thin and her skin was too light. Her head was bent on her shoulder. Her long, 

black hair hung untidily around her head and shoulder. She had worn a simple kimono, which looked as if she directly came from her bed. But 

strangest of all, were her eyes. They looked as if they had extraordinary power which could look through a human body. Even more puzzling 

was her request. She asked for ame, a Japanese candy. Sakota had thought that she would ask for life-saving medicine or an immediate help. 

Ame couldn‟t be that important for which one would need to come in a stormy winter mid-night. 

 Surprisingly, the same event repeated for next two nights as well. On the fourth night, Sakota thought, he must try to know more about 

the woman. He took the help of his photographer friend in his pursuit. He stealthily (secretly) snapped some photos of the woman. But when the 

photographs were developed, they didn‟t show her picture. The case seemed more mysterious. They thought that they would follow her if she 

would come. 

 As they had expected, the woman came on the fifth night too. They followed the woman. But since they were not skilled in spying, 

they were easily noticed by the woman. But it didn‟t seem a matter of concern to her. Rather, after a minute, it seemed as if she also wanted them 

to follow her. She led them on the third floor of an old apartment, where she disappeared in the narrow hallway. The men found a door open. 

When they entered that room, they found a baby licking ame happily. Beside the baby was the dead body the same woman. Sakota assumed she 

was dead from a number of days. 

 

UNIT-2 

My Heart Leaps up When I Behold 

William Wordsworth 

Q. 1. Interpret the poem in the way you like. 

Ans: The poem, “My Heart Leaps up When I Behold” is written by William Wordsworth, who has earned the fame as a worshipper of 

nature among the romanticists. He has said, “Poetry is the spontaneous overflow of powerful feelings: it takes its origin from emotions 

recollected in tranquillity.” The influence of this definition is visible in his poems as well. In this poem, he has recollected the experiences of his 

joyful encounter with the rainbow in his childhood days.  

 The poet says his heart gambols whenever he sees a rainbow in the sky as it gives him unlimited pleasure. The rainbow was equally 

fascinating when he was a child and enthralled him in the same manner. Now he is a grown up man and does not find any difference in the 

rainbow. It is still blissful and charming. The poet wants it to remain charming in future too. If the continuity of rainbow breaks he will prefer to 

die. 

 However, the poet believes that the present is the outcome of past and naturally, the future will be the outcome of the present. This 

idea gives him the realization that if the rainbow is as beautiful as it was in past, it will definitely remain beautiful in future too. After that the 

poet feels relaxed and affirms that he could pass his days in the devotion of nature forever. 

 

Q. 2. Explain the paradox in “The Child is father of the Man” 

Ans: A paradox is a statement that seems to be absurd or contradictory but is or may be true. Generally we think a man is the father of a 

child because a „father‟ is the source out of which something originates. We know that the role of man is instrumental behind the birth of a child. 

A child can never produce a man. Therefore, the statement, “the Child is father of the Man” seems a paradox.  

 However, the poet does not mean that a child can biologically produce a grown up man. By the above statement, he has expressed his 

opinion about the natural growth of a human being, in which a child always develops into a man. A man can never transform into a child. A 

child possesses a seed-like quality. A seed develops into an autonomous tree and bears flowers and fruits according to the seed. Similarly, a man 

also inherits all the characteristics from its childhood. A kind child manifests kindness whereas a cruel child manifests cruelty in its manhood. 

Thus, it can be said that “the Child is father of the Man.” 

 The statement also means present is the outcome of past. The statement assured the poet about the continuity of the time and natural 

beauty. According to which, if the rainbow is as beautiful as it was in past, it will certainly remain equally beautiful in future too. 

 

Speaking of Children… 

Barbara Holland 

Q. 1. Does this essay speak in favour or against having many children? Give reasons. 

Ans: The essay, “Speaking of Children…” by Barbara Holland, speaks against having many children. In ironical language it says “one child 

is an appendage and more than one is a way of life”. One child is similar to one‟s own natural limb. No one finds his of her natural limb a 

burden. A natural organ is always useful and lovely. According to the essayist, one child is helpful and lovely in the same manner. However, 

when she says having many children is a “way of life,” she does not mean that they add colour to one‟s life. It‟s an irony, by which she means 

that one experiences the real trouble and burden when he or she has to feed, clothe, and rear many children. 

 One child is outnumbered. It can be brainwashed and trained by its parents. It can become what its parents want and can achieve 

higher success and goal in its life. It is not difficult to carry it to important places and parties as it will be a well-mannered child. But if a couple 

has more than one child, the couple hardly gets time to train and teach manners to them. Such untrained and ill-mannered children start counter 

culture in the house. They shout for early dinner, force their parents to go the places which might not be important and persuade them to talk to 

someone who is a parent of their friends. Such couples move far away from the city and settle in the places where there are better schools. 

 With one child “you and your husband are still yourselves.” You don‟t have to compromise with your usual way of life. You have 

merely acquired an extra thing which is tidy and obedient like a terrier or expensive and mechanical like an electric toothbrush. Having such 

things always gives you pride. With more than a child, you and your husband are no more yourselves. You find everything misplaced around 

you. You are pushed backward in your life as your maximum time passes in fulfilling the needs of your child. And what‟s more important, the 

couples with more than one child hardly get time to discuss about their own private matter, which might destroy the family. 

 Thus, the essayist insists, with multiple children you simply find yourself attuned into such time and situation where everything seems 

slipping out of your hands and you lose control over your own life. 

 

Q. 2. How multiple children can affect the conjugal life of couple? 

Ans: Barbara Holland tells it is extremely important for a successful or healthy marriage that the couple separate some private time for each 

other. Especially the wife should set some time aside when her husband comes back from work. The communication gives them time to solve 
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their problems and strengthen the understanding between them. But if a couple has more than one child they can‟t separate time for themselves. 

Their children don‟t allow them to talk freely, no matter how much they try to persuade. In such condition a simple misunderstanding widens the 

gap between them and their marriage might break down without giving them any time improvise their mistakes or misunderstandings.  

 

A Worn Path 

Eudora Welty 

Summary 

Q. 1 Describe Phoenix Jackson and the Journey she undertook to the town of Natchez. 

 Phoenix Jackson is the protagonist of the story. She is an Afro-American lady. The way walks suggests she must be very old. She 

needs a cane to walk. Her eyesight is weak too and she mistakes a scarecrow as a ghost. She wears a red rag in her hair. Her long skirt made of a 

sugar sack tells she must be very poor. Her skin is yellow and there are wrinkles on her face. But in spite of all these disadvantages, she has a 

strong determination. 

Phoenix Jackson makes biannual visit to Natchez to get a soothing medicine for her grandson which she receives as charity. Having 

swallowed lye, he has suffered without healing for years. Phoenix has made such journey many times and her path seems to be a worn path now. 

 The story opens on a chilly December morning. Phoenix Jackson is making her way to the town, slowly but surely, through the woods, 

tapping her umbrella on the ground in front of her. Her shoes are untied. While she taps along she also warns the animals to keep out of her 

ways. When she crosses the wood up and down a hill, she complains how difficult the walking becomes. She talks aimlessly to herself. While 

coming down the hill, due to her poor eyesight, she catches her skirt in the thorns. But quite patiently, she frees her cloth. After that she has to 

traverse (cross) a stream by walking on a narrow log. Then she takes rest under a tree and due hunger she imagines a boy bringing a slice of 

cake. She leaves the place and walks along the trail. In the way she finds a fence. As she could not climb over it, she crosses it by crawling under 

it like a baby. When she crosses a field, she mistakes a scarecrow as a ghost and when she finds that it is just a scarecrow she dances in joy. 

When she reaches the wagon track, she meets a black dog with a lolling tongue. She tries to hit that dog but the attempt knocks her off balance 

and she falls into a ditch. As she can not come out of it by herself, she simply waits for someone to come to her rescue. Soon a white hunter 

comes and takes her out of the ditch. When she complains that a dog has knocked her down, the hunter goes to chase that dog away but in the 

process a nickel falls from his pocket. Phoenix takes that coin. When the hunter comes he points his gun on her and asks if she is afraid. But he 

can not scare her and gets so impressed that he desires to give her a dime in reward. He tries to discourage the lady to go to the town but he can 

not. 

 When she reaches town she finds it decorated in beautiful way as it is the Christmas time. When she reaches the clinic she forgets the 

reason that takes her there. But the nurse recognises her and remembers her case. She gives her the medicine after making normal enquiry. When 

she leaves, the attendant gives her a nickel as a Christmas gift. After she comes out of the hospital, she finds she has got ten cents with her. She 

decides to buy a paper windmill for her grandson with that.  

 

Q. 2. Trace the various obstacles Old Phoenix comes up against between the valley, where we first pick her up and the wagon track, and 

describe how she deals with each. 

Ans. There are numerous obstacles that Old Phoenix has to overcome between valley and the wagon track but she overcomes each of them with 

her strong will-power. First of all it is a very cold day and she is very old. Her old age and the unfavourable weather are the first obstacles in her 

long journey but she ignores that with her indomitable spirit. Second, she has to walk through the woods up and down a hill which is haunted by 

wild animals. She keeps the animals away by poking her cane into bush. Next obstacle is a thorny bush which catches her skirt. Quite patiently, 

she frees herself from that thorny bush. The obstacle number four is to traverse a stream by a narrow log. She crosses is slowly by closing her 

eyes and holding her cane firmly in front of her. After that a fence comes in her way. As she is very old she can not cross it by climbing over it, 

she crawls under it like a baby. The last obstacle that comes before the wagon track is a scarecrow. She mistakes it for a ghost. But as she cannot 

return back she touches it and finds it is just a scarecrow. In this way she overcomes all the obstacles that come in her way. 

 

Q. 3. What is the meaning of the episode in which Phoenix steals the nickel? Does the act offend our sense of honesty? Explain your 

answer. 

Ans. When Phoenix Jackson falls into a ditch, she waits for someone to come to her rescue. After some time a white hunter comes and helps 

her to come out. She complains that she is knocked down by a dog. The hunter goes to drive that dog away. In this process a nickel falls from his 

pocket. When she sees it, she takes it stealthily. At the same time a bird flies and it makes her think that God is watching her. It shows that she 

confesses her sin to the God and her act is forgiven at once. We can say this because we see the hunter coming back and expressing his desire to 

reward the lady with a dime. It can be taken as an attempt of writer to make her reader realize that what she takes is only half of the reward she is 

worthy of. 

 Therefore, the act of Phoenix does not offend our sense of honesty. Rather, her pathetic condition arouses sympathy in our heart. It was 

Christmas time and she needed some gift for her grandson. Any other person would do the same if s/he was in her place. 

 

Q. 4. How does Phoenix describe her situation to the white man who helps her up? 

Ans. Phoenix describes that her situation is similar to a June-bug. A June-bug is an insect. When it is turned upside down, it can not turn 

back to its normal position by itself. It needs help from someone to do so. If the help does not arrive in time, it will die. 

The situation of Phoenix Jackson is also same. She is too weak to come out of ditch by herself. Therefore, she simply waits for someone to come 

and lift her up from the ditch. 

 

Q. 5. Why is Phoenix taking the long trip to town? 

Ans. Phoenix has only one relative left with her, who is her grandson. Once he had swallowed a solution named lye. It damaged his throat 

and made it painful for him to drink or eat anything. According to doctors, it couldn‟t be cured. However, they gave a kind of soothing medicine 

which could be used to soften his throat. The medicine helps him to eat and drink. 

Phoenix is going to fetch the same medicine, which she gets free from a clinic in Natchez. She makes such visit twice a year. 

 

Q. 6. What does Old Phoenix plan to do with the money she has got during the day? Why?  
Ans. Phoenix Jackson plans to buy a paper windmill for her grandson. According to her, it will be a good thing for him because the child 

has never seen such a wonderful thing in his life. It was also the Christmas time and it is a tradition to give gifts during this time to one‟s near 

and dears. Since she has only one relative, she also decides to take a Christmas gift for him from the town. Besides, she has only ten cents and 

she cannot buy anything more valuable than a paper windmill with that sum of money. 

 

 

UNIT-3 
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The Poplar Field 
William Cowper was enchanted by the rural and natural beauty. He gave up his public career for a life of retirement in rural area and 

exclusively devoted his later life into poetry. His love towards them is also visible in the poem, “The Popular Field”, which is remarkable for its 

celebration for the rural and nostalgic tone. 

 The poem is the result of the poet‟s second visit to the same landscape which he had visited 12 years ago. It was the bank of River 

Ouse which was filled with tall poplar trees. It provided shade to the poet. There used to blow cool breeze and the melodious song of blackbirds 

had entertained the poet. But, now the trees are cut and are fallen on the ground. It cannot provide shade to anyone nor there is cool breeze 

blowing. The blackbirds have flown away in search of new shelter and therefore, the poet can not listen to their sweet song anymore. By looking 

this degraded situation of the same landscape, the poet becomes very sad. 

 The poet thinks that the limited years of his life are passing away very quickly. Very soon he will be dead and buried in a grave. But he 

regrets that he will not be able to see such poplar grove on the bank of River Ouse again in his life. He not only regrets for himself but, the 

pathetic site of nature also draws his attention towards the “perishing pleasure” of human. Human life is very short and one must try to fill it with 

joy and pleasure. But their bad luck is that their joy and pleasure last for shorter time and for this they themselves are responsible.   

 

The Nightmare Life without Fuel 

Isaac Asimov 

 

Summary 

„The Nightmare Life without Fuel‟ is an essay written by an American author of Russian origin named Isaac Asimov. It originally 

appeared in the Time magazine in America in 1977. The author at that time assumed that after two decades there would be fuel crisis and 

described in this article for the magazine how America would struggle without fuel and what kind of situation would be outside it. Here, 

America is just a case in point. The author in fact tries to show what is going to happen if we don‟t conserve the world‟s natural resources. Fuel 

is a major resource of them but there are so many others too that need conservation for the sake of mankind and other creatures on the earth as 

well. 

 The first and foremost impact of fuel crisis will be seen on transportation. The vehicles, which are run by gasoline, will 

disappear, making life very much complicated. People will have to walk to their work or other places. Those who can afford will use bicycle that 

will be a major means of transport. Anyone older than ten in 1997 will just remember automobiles in America. Development works will stop and 

demolition work will start. Buses, cars, jeeps, trains and others will be no longer in use, and they will be destroyed to extract metals and reuse 

them. “The fading structures of a decaying city will be the great mineral mines and hardware shops of the nation”. Cities will decay due to  lack 

of sufficient energy.  

There will not be immediate and equally effective option for fuel. Coal is too difficult to dig up, and moreover it can‟t give energy in 

required amounts. Similarly, energy from nuclear power will remain just a dream only as nuclear fission is very dangerous. Solar batteries are 

also too expensive to maintain, and therefore they can‟t effectively replace gasoline. There will be, however, some energy left in America but 

that will not be for personal use. The nation will use them to survive until new energy sources are found. The remaining sources of energy will 

be spent on railroads, subways, and agriculture. The car factories will start making trucks and farm machinery to me used in agriculture. 

Fuel crisis will certainly exert its adverse effects on food distribution as well. Americans will have to eat less because of high prices of 

foods and difficulty of their distribution all over the nation. America will export food so that it can pay the oil rich countries for some amount of 

fuel and other resources. People will have to live without present day luxuries like air-conditioning, fan, cooler, heater etc. In summer, they will 

stay out and the open air will be the only air conditioning for them. In summer, they will have to huddle together to keep each other warm. 

Sweaters will be most popular indoor wear, and lukewarm sponge baths will be in practice due to lack of water and electricity as well. 

People will have to work more but they will get less to eat due to fuel crisis even in America, according to the author. Machines will be 

replaced by „human muscles and beasts of burden‟. They will work and sleep as much as they like in their leisure but they will not get enough to 

eat. Outside cities the situation will be even worse. People there will console themselves to know that those in suburban are suffering more than 

them. With automobiles the suburbs will also disappear because their existence totally depends on the former (i.e. automobiles). 

Isaac Asimov ironically says that there will be some advantages of fuel crisis as well. For example, there will be less pollution as there 

will not be any vehicle to emit exhaust, and therefore there will be less chance of catching cold. Crime rate will drop at first. Policemen will be 

seen moving actively on their feet. Streets will be crowded, and parks will be full. People will have sense of mutual protection in the crowd. 

Moreover, armies that consume fuel in large amounts and thereby cause its crisis sooner than later will also disappear, as nations won‟t be 

economically strong to maintain them. 

In this way, America will struggle a lot without fuel, according to Isaac Asimov. But outside America except Europe, as he predicts, 

the situation will much more horrible. People will starve out there. Just 20% of people there i.e. one in five will have something to eat at any 

given time. Millions of people will have their brain damaged by under nutrition. Because of lack of balanced diet mothers will go dry, and as 

they„ll be unable to feed their babies, infant mortality rate will increase high. Poverty and diseases will spread everywhere outside America and 

Europe. Such bad news about the rest of the world will rather save Americans from being despaired! 

The author quite pessimistically predicts that fuel crisis will ultimately take the modern developed human world back to the pre-

industrial Age, and once again there will be subsistence farming as before 1800.By that time the world population will have been reduced to less 

than a billion by starvation, poverty, disease, and violence. He believed at the time of writing this essay that is in 1977 that any genuine attempt 

to find out the option for fuel had started 50 years ago, and then it would be very easy to avert any such situation. But now almost nothing can be 

done to prevent such a horrible situation to come. That is, according to him, fuel crisis is bound to take place leading to such miserable 

condition. 

Though such situation did not occur in 1990s as predicted by him, it doesn‟t mean that now it won‟t arise. He has appealed us to use 

rationally the natural resources like the fossil fuel and others. If we don‟t check our destructive attitude towards them, may be that situation will 

arise, badly crippling life on earth.     

 

1. What specific problem does Asimov focus on in this essay? Why does he consider this issue worth of attention? 

Ans. Asimov focuses on the fuel crisis in this essay. He considers this issue worth attention because the amount fossil fuel is limited. It 

cannot fulfill the insatiable human demands forever. But human beings are using it ignoring its limitation. This trend might finish them before 

we expect them to finish and might invite countless troubles for human. It is also a considerable issue because the time has come when we must 

look for some alternatives of fossil fuel. If other alternatives to produce energy are not found in time, the human will be doomed to live a cursed 

life in near future.  

 

2. According to the author, what will be the advantages of the fuel crisis of 1997? The disadvantages? 

The author mentions some advantages of the fuel crisis in an ironic sense. According to him, this crisis will help reduce pollution, and 

thereby the chance of catching cold, too. This crime rate will drop. These two are not, however, genuine advantages. They are rather byproduct 
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of the disadvantages like lack of vehicle and Police‟s inability to record crime. Public places like subways and park will be crowded and people 

will feel mutually protected in the crowd. Armies will disappear as governments will no longer be able to maintain those “energy gobbling 

monstrosities”. 

Though the author mentions these advantages of the fuel crisis, his main focus is, in fact, on its disadvantages. Means of transport like 

buses, cars, and other automobiles will disappear due to lack of scarcity of fuel, making life slow and too hard. Development of the society will 

halt; instead demolition will start, especially of automobiles which will not be useful any longer. They will become source of metals to be reused 

in farm machinery and other tools. The modern sophisticated cities which have plenty of facilities will transform into dark desolate places due to 

lack of proper energy. People will have to work longer but will get less to eat. As a result, their health will get badly affected. Especially outside 

America and Europe, only one among five will have something to eat at any given time. Millions of them will be alive but with already damaged 

mind from under nutrition. Poverty, starvation and disease will be seen here and there. Mothers will go dry due to lack of balanced diet. As a 

result, infant mortality rate will increase. These are some of the major disadvantages of the fuel crisis will so badly damage the quality of life 

that it will no more be known as it is known now. 

 

3. What does the author think of the armed forces in general? What should be their place in society? How did you come to this 

conclusion? 
 Isaac Asimov thinks of the armed forces that they are major precipitators of the fuel crisis which will badly transform the 

modern developed face of the human society. They use fuel in very large amount but not for any constructive work. They are involved in violent 

works killing others at the risk of their own life. As society does not get benefited from them in any way, they should not have any place in 

society. There should not be any existence of armed forces. This is what the author seems to think about them. We come to this conclusion on 

the basis of Asimov‟s reference to soldiers as “expensive, energy-gobbling monstrosities”. 

 4. What kinds of serious problems could fuel shortage cause? 

Ans. In the essay “The Nightmare Life without Fuel”, Isaac Asimov has tried to foresee into future when human will have to suffer from 

extreme fuel crisis.  

 The essayist is an American and he has started the essay by mentioning the negative effect of fuel scarcity on Americans. According to 

him, the American life will be changed into a nightmarish life. They will find themselves unable to keep private vehicles and have to travel in 

crowded public transport. The factories will stop production and they will have to reuse the metal parts from old and demolished buildings. 

Inside the house, they won‟t be able to operate ACs, heaters or refrigerators. Hardly any American will be able to lit lights after supper. In short, 

they will have to live inside their dark, cold and cave-like houses. The fuel shortage will put the human settlements to an end in suburbs. 

 The American government will have to overlook the personal interest of its citizen. They will only allow the railway to use the coal. 

The remaining energy will be used by agriculture sector. The car factories will start producing agricultural machines. This will grow the 

agricultural products in America. But the price of food will knowingly be kept high. This will discourage the people to buy more food and allow 

the government to export them, as it will be the only source of national income. 

 The condition outside America will be more pathetic. There will be widespread starvation as only one out five people will get 

sufficient food. About 80% people will suffer from hunger. Around 2 billion will have their brain permanently damaged. 

 The use of machine will be replaced by human muscles and beasts of burden. They will have to work for longer hour with less leisure 

time and amusement. Even then, there won‟t be any guarantee of food. In short the whole human race will be doomed to languish in the hell-like 

situation. 

5. In Asimov‟s essay what is happening in the rest of the world as America struggles without fuel? 

Ans. The situation outside America is worse as the people are dying out of hunger there. Only one out of five people get enough food. 

About 80% people outside America and Europe are compelled to live in hunger. The first victims of starvation are innocent children. They can 

hardly survive once there mothers become dry. 

 There are some who are getting only that much food which can move their bodies. But it cannot keep there mind fit and there are 

around 2 billion people whose brains are permanently damaged. 

6 What does the author mean when he says, “the suburbs are born with auto, lived with auto and are dying with auto.” 

Ans. Asimov has imagined a nightmarish life, which can be turned into reality due to the fuel crisis in “The Nightmare Life without Fuel”. 

In the given line he has presented the dependency of American suburbanites on automobiles.  

 When the cities grew, a lot of industries and factories were established in it. To run them they needed extra manpower. But there were 

not enough space to accommodate them all inside the cities. So, these workers settled several kilometers away from cities. They could do so 

because their life was supported by their automobiles. They could easily go to their work and come back home in time. Thus, the automobiles 

helped the human to settle in suburbs. As the habitation grew the facilities also grew there. It attracted the rich and professionals to come and 

settle there because they found almost equal facilities and a better environment. Thus, posh colonies were established and the suburbs developed.  

But all of the sudden the automobiles, the only medium that has linked them to cities, has stopped working. When the suburbanites can 

not afford the price of fuel, they left driving cars and can not reach office or do the shopping in time. They are cut with mainstream of America. 

Therefore, they are dying now.  

 

 Keeping Things Whole 

Mark Strand 

Summary 

This poem is written by Canadian born poet Mark Strand. In this poem he pleads for the wholeness against the usual fragmentation that goes on 

in life. The poet is physically present in the field but finds himself absent. This seems to be a contradictory. It actually suggests that he doesn‟t 

give any importance to his presence in the field which has given him space to stand and move. He attaches more importance to the field but finds 

himself missing there. He says this is always the case; wherever he goes he finds himself absent. He doesn‟t consider himself as a part of the 

system in which he lives. Here, his mention of the field instead of any other manmade structures like malls, theatre, and others shows that he is 

talking about system that is found in the nature, that is, ecology. Field can also symbolize the mother earth. And „I‟ can be we all human being. It 

also shows how we human being keep fragmenting the things. Wherever we go; whatever we do we always find ourselves superior, different 

from others. We have got the fragmented mentality and keep fragmenting everything in the nature.  

He further talks about air which is also a part of nature. When he walks, he divides the air as every other person. However, the moment 

he moves forward, the air moves in to fill the spaces occupied by his body before. Unlike others, he is aware of the division that his body causes 

even momentarily in the air. This shows that we are responsible for the destruction of the environment. In the name of achievement and progress, 

we are destroying the nature and creating pollution. But nature   corrects the mistake made by the human being and tries to maintain the balance.   

He clarifies his position, purpose and perspective in the last stanza. He has realized that we all have reasons for moving. Clarifies that 

our presence in the field should not cause any kind of fragmentation; we should rather try to keep things whole, and it is the conservation of 

nature - not fragmentation or destruction - that is the purpose of our life. 

 In this way, Mark Strand in this poem appeals us to protect nature against fragmentation that going apace at present in the world.  
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UNIT-4 

 

Oops! How‟s That Again 

Roger Rosenblatt 

Summary 

 In our daily life, we make numerous verbal errors. They become the cause of embarrassment, insult, and sometimes – just laughter. 

But most of the time we are not serious about it although they seem surprisingly interesting. 

 Rosenblatt in “Oops! How‟s That Again,” has discussed on such verbal errors in a humorous way. However, at the same time he has 

provided some reasonable explanations behind such errors. He has categorized the verbal errors into four groups. They are: slips of tongue, 

mistranslation, bloopers and spoonerisms.  

 In slips of tongue we mistakenly tell something else instead of what we intend to or are supposed to tell. On the conscious level we 

never mean what we speak and sometimes we regret for it. For example once a businessman Peter Balfour wished Prince Charles “long life and 

conjugal happiness” with Lady Jane on the day he was engaged to Lady Diana. Similarly, when Chicago‟s Mayor wanted make his city men feel 

comfortable, he assured them “the policeman isn‟t there to create disorder, the policeman is there to preserve disorder.” Clearly, both the mis-

speaker didn‟t mean what they told. 

 Mistranslation is different but perhaps the most interesting among all verbal errors. A popular slogan “Come Alive with Pepsi” was 

mistranslated in Germany as “Come Alive out of Grave with Pepsi.” Similarly once the German President, Heinrich Lubke went to receive the 

President of India at an airport. He wanted to ask “How are you?” to Indian but asked “Who are you?” instead.   

 Bloopers are embarrassing errors made in public. Once David Hartman, the anchor of “Good Morning America” infuriated his 

sponsor, „General Foods,‟ when he announced, “we‟ll be right back after this word from „General Fools‟.” Similarly another American radio 

anchor, Harry von Zell called his president “Hoobert Heever.” In fact the president‟s name was “Herbert Heever.” However, bloopers largely 

consist low-life verbal errors and toilet jokes. It is also an interesting fact that blooper records became great hit programmes on American radio 

and television in 1950s. 

 Spoonerism, an utterly different kind of verbal error, is named after an Oxford scholar, Archibald Spooner. It is the transposition of 

initial or other sounds of words in a sentence. It seems deliberate. The popular example is the transposition of “Conquering Kings Their Titles 

Take” as “Kinquering Kongs Their Titles Take.” In another interesting example Spooner scolded his student, “you have hissed all my mystery 

lectures...” instead of “you have missed all my history lectures...” 

 Although we just laugh at such verbal errors, they are of great importance for linguists and psychologists. According to some linguists 

like Victoria Fromkin, brain stores idea in a particular grammatical pattern of a particular language. When we speak, we express our idea on the 

same pattern. But if the ideas are arranged in wrong way, we make mistakes. Mistranslations can be taken as a result of such attempts too. 

 According to psychologists, our brain has three stages called; sub-conscious, conscious, and super-conscious. In our sub-conscious 

mind there are many wishes related to primitive needs. But our super-conscious mind always forces us not to reveal them. Our conscious mind is 

a balance between them. But sometimes the latent desires of sub-conscious mind tend to come out in the from of slips. For example, when a nun 

asked the Irish Bishop “How many lords, my lump?” instead of “How many lumps my Lord?” she intended to ask a profound theological 

question. 

 There is another also psychological theory which gives a sound reason for such verbal errors. According to the psychiatrist Richard 

Yazmajian, there are some incorrect words that exist in associative chains with the correct ones. He calls it “dream pair” of words. When we 

speak, sometime incorrect words of dream pair substitute the correct words and we make verbal errors. 

 

UNIT-5 

Malini 

Rabindranath Tagore 

1. In the beginning of the play the King talks about “storm clouds gathering over the King‟s house.” What does he refer to? 

When the King talks about „storm clouds‟, he refers to the problems that he will have to face in very near future due to Malini‟s faith in 

Buddhism. The Brahmins of Kashi are going to start their movement with the demand of his daughter‟s banishment from his own house. It will 

certainly put him in a problematic condition. It is such probable condition that the King alludes to when he talks metaphorically about „storm 

clouds‟. 

2. What was the revolt against? Against Malini? Against the King? Against Buddhism? 

Ans: The revolt was against the spread of a new religion on the land old religion. The above mentioned causes are merely stimulus. Had 

there been Michael in stead of Malini, or if there had been the spread of Christianity in stead of Buddhism, the result would have been same. 

Neither any King would be excused under such circumstances.  

 Kashi is one of the centres, where Hinduism originated and prospered. It is also the place highly dominated by Brahmins. Remarkable 

thing is that the Brahmins enjoy a great privilege in Hindu society. In such condition any blow to the dominant religious dogma may result in 

disadvantage of all Brahmins. Therefore, when Malini comes out with a new concept influenced by Buddhism all the Brahmins get united 

against her and shouted for her banishment.  

 

3. Why does Malini ask for her own banishment from the palace? 

Ans. Malini thinks that she is inspired by some divine force in heaven. She thinks she should go out of the palace among the common 

people. It will help her to teach them what is right and what is wrong. The instruction of Malini will help them to attain nirvana. Therefore, when 

the king informs her of Brahmins‟ discontentment, she takes it positively. She tells her father that they are not asking for her banishment but 

want her to live with them. So, she requests her father to listen to Brahmins‟ demant and banish her from the palace.   

 

4. Would you call Supriya a betrayer? Give reasons. 

Ans. It would be an injustice to call Supriya a betrayer. Of course, de deceived his friend who trusted him most, but at the same time we 

must consider his patriotism. All the personal relations and causes are subordinate to national cause and sovereignty. In Supriya‟s own words 

Kemankar is dearer than his own life. But when is informed that Kemankar is going to attack Kashi with mighty foreign soldiers, he becomes 

panic about the possible bloodshed. He must have understood that a whole country should never be thrown into a war due to the ambition of a 

single people, no matter how important he is. He informs the king about Kemankar‟s plan and the king makes him a captive after a surprise 

attack and stops the country from possible destruction. Therefore, I would call Supriya a patriot rather than a betrayer. 

5. Draw a character sketch of Supriya and show how he is different from Kemankar. 

Supriya and Kemankar are two very close childhood friends but they are poles apart by nature. Supriya is a liberal and open-minded 

Brahmin boy who has got good knowledge of religious books. Unlike him, his friend is a radical and conservative Brahmin who believes that his 

religious books contain complete truth and just by following them one can reach heaven. But Supriya doesn‟t think so: he‟s read so many Hindu 

holy books but has never felt inner joy and peace in his heart by reading them. They don‟t provide him the answers of the questions that arise in 
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his mind. So, he has come to realize that those religious books can‟t be perfect in them and doesn‟t follow them blindly as Kemankar does. His 

religious values and beliefs are most important for Kemankar who seems to think that it is his duty to protect his religion. For Supriya, humanity, 

love for all, and sacrifice are much more important than them. 

It‟s a fault in Supriya that he doesn‟t follow what he thinks is right. He can‟t maintain a firm standpoint in his life as his friend 

Kemankar does. The former (Supriya) always lacks confidence but it abounds in the latter. Even though he differs hugely from Kemankar, he 

gives up before Kemankar and plays second fiddle to him. But unfortunately when he listens to his conscience and acts accordingly, he gets 

brutally killed by Kemankar whom he calls in the play “my friend, my brother, my master.” When he comes to know from Kemankar‟s letter 

sent from foreign land about his plan to kill Malini, he informs the King about this, and thereby gets the latter and his hired soldiers captured. As 

revenge, Kemankar kills him by striking on his head with the chain that bound his hands in front of the King and Malini in the garden of palace 

itself. 

Conclusively, we can say that Kemankar is a monstrous person who is an emblem of hatred and fanaticism whereas Supriya is an 

amiable and loving Brahmin. 

 

6. Draw a character sketch of Malini. 

Ans. Malini is the protagonist of Rabindranath Tagore‟s play, “Malini”. She is the princess of Kashi, a land where Hinduism originated and 

prospered and where her new thoughts stirred the conservative Hindus. Although she is a princess, she does not wear dresses or ornaments like a 

princess. This annoys her mother but Malini thinks her destiny is “to find riches in the poverty”. 

 Malini is inspired by a divine force of heaven. She thinks she should leave the palace and go among people. It is important because she 

thinks only by bridging the gap between palace and people, she can preach and rescue them from the troubled life of earth. According to her, the 

whole world is like a ship left by its captain on a stormy sea. The ship might destroy if she will not reach. She thinks she knows the way to 

heaven and can lead it there. In other words, she thinks she can help people to achieve nirvana. 

 However, once she goes out, she finds the reality quite different from what she has supposed. She asks help from Supriya in her 

mission as she lacks words when she is amidst human crowd. This might make the readers think that all her visions are in fact illusions. 

 Nevertheless, it doesn‟t mean she doesn‟t possess any power at all. In fact, she looks so bright that agitating Brahmins takes her as an 

incarnation of a goddess who has descended on the pious land of Kashi to rescue it from the possible bloodshed. 

 Malini is taught by Buddhist monks. Accordingly, she is very much influenced by its philosophy, non-violence and peace. When 

Supriya tells about how he has informed the king about Kemankar‟s plan, who makes him a captive, she doesn‟t like it. She thinks her heart is 

big enough to greet even the opponents. Not only that when Kemankar kills Supriya, she pleads the king to forgive him. Remarkable thing is that 

Supriya is very dear to her and the king wants her to marry him. 

 Malini is the creation by Tagore in which one can find blend of so many eastern mythical ladies. She is benign and beautiful like Sita, 

and her mere presence might liberate the mind from any kind of agitation. She is also similar to Bhrikuti who revived Buddhism in Tibet to help 

people to overcome their sufferings. It might be possible that the dramatist might not have thought about these two abovementioned goddesses 

from Nepal, but the way Malini is respected and worshipped by the people in drama make us identify her with them. 

7. The play ends with Malini‟s words: “Father, forgive Kemankar.” Do you think the King will forgive Kemankar? Discuss.  

I don‟t think the King will forgive Kemankar simply because his daughter was requesting him. Kemankar was a big criminal. He had 

made a conspiracy against the princess and also brutally killed Supriya in front of the King himself. For these two grave crimes he must be 

punished so that it will set an example in the state that everyone will be punished for wrongdoing. The King will certainly punish him to give 

justice to Supriya and to maintain law and order. If he forgives Kemankar, that will set a very bad example of injustice and will encourage others 

to commit crimes. Moreover, Kemankar would again go to foreign land to bring soldiers and attack Malini as he himself told the king to do so if 

he was forgiven. 

 

UNIT-6 

The Six Million Dollar Man (Harold J Morowitz) Summary 

 Prof. Dr. Morowitz in the “The Six Million Dollar Man” has tried to examine what the actual worth of a human being can be.  

 It started, when he got a birthday card stating, “According to BIOCHEMISTS the materials that make up the HUMAN BODY are only 

worth 97c.” It was hard to believe if a human body can be so cheap, especially for the person, who himself was a professor of Molecular 

Biophysics and Biochemistry. Therefore, he decided to make a through scientific study of the entire matter.  

 He arranged for a catalogue from a Biochemical Co., which had clearly mentioned the rate of chemical ingredients present in a human 

body. According to the information provided in the catalogue, the cheapest ingredient, Hemoglobin, cost $2.95 per gram and it ranged to 

$175,500,000 which could be the lowest possible cost for a single gram of prolactin. The overall calculation told the estimated cost for a dry 

human body would be $ 245.54 per gram. The excited author multiplied it with his own dry weight, 24,436 grams. It revealed that his dry body 

was worth $6,000,015.44. It was really great upgrade to his ego but his research didn‟t stop there. 

 He found that the cost he speculated was to low. Because he had calculated the value of the chemicals present in a human body 

separately but in a human body they work in combination. Clearly if they are synthesized further they would be far more expensive. If they 

synthesized into molecules the cost would reach around six billion. If the molecules are synthesized to make cellular substructure they would be 

around six trillion and if they synthesized into organelles the cost could not be estimated in terms of dollars or cents. Neither such organelles 

would be able to manifest human qualities. 

 The essay ends with a philosophical conclusion that is impossible to assemble cells into tissues, tissues into organs and organs into a 

living person. Neither any amount of money is enough to buy or create a human being. In short, each human is infinitely precious.  

 

On the Vanity of Earthly Greatness Arthur Guiterman 

Summary 
The poem, “On the Vanity of Earthly Greatness” composed by the American poet Arthur Guiterman deals with the theme of the 

remorselessness of time and the vanity of earthly greatness. It elaborates this theme with four examples excluding the poet himself - two from 

animal world and two from the human world. 

Mastodons, extinct mammals that resembled the elephant, used to show their power by hitting other animals with their powerful tusks 

which have now been transformed into billiard balls. Similarly, grizzly bears would show their power by hugging others but now after their 

death they exist in the form of mere rugs. 

Charlemagne was a great emperor of Rome. He conquered wars and maintained law and order and justice by using his sword. But now 

the same sword, that slain or injured others, is now on the verge of extinction due to rust. Rust in the emperor‟s word symbolically shows that he 

doesn‟t same influence at present. Similarly, Julius Caesar, a great Roman statesman and general, was a most influential and powerful person of 

his time, but now he remains just as a showpiece in the cupboard of the poet. And the poet himself who used to feel strong and energetic at one 

stage of his life doesn‟t feel so well at the moment. It‟s all because of time. 
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All these examples clearly show that time doesn‟t spare anyone on the earth. Every creatures, no matter how much powerful they are, 

lose their power and magnificence in the course of time. It‟s like an acid that drips on their earthly greatness and glory, finally reducing them to 

good for nothing. 

Q. 1. Summarize the poem in one sentence. 

Ans. All the earthly glory and power, no matter whether it is the tusks of mastodons and the grizzly bear or the sword of Charlemagne and 

the Julius Caesar himself are doomed to decay with the flow of time.   

2. Bring out the „vanity‟ involved in the last couplet. 

 The last couplet deals with the present condition of the great Roman statesman and General Julius Caesar and the poet himself. The 

vanity involved in this couplet is shown by the difference between their past and present conditions. Julius Caesar was a great warrior and 

administrator of his time with a lot of power and influence in his hand. But all his glory, magnificence and influence vanished in the course of 

time and at present he‟s lying as a decorative piece in the showcase of the poet. The big irony is that he is in the form bust – a half statue without 

legs and arms! His presence in this form suggests the effects of time on his power, position, and other achievements. Like him, the poet is also 

no longer in a desirable condition. In his past he would feel strong and energetic enjoying popularity as a poet, but at present he is not feeling so 

well. 

3. What is ironical about the poem? 

 Irony means incongruity between what actually happens and what might be expected to happen, especially when this disparity seems 

absurd and laughable. Such incongruity abounds in this short poem. It is exemplified by vast differences between the past situations of 

mastodons, grizzly bears, Charlemagne the Just, Julius Caesar, and the poet himself.  

While mastodons were alive, they exercised their power by striking other creatures in fierce fights with their powerful tusks. They had 

never thought that one day they themselves would disappear from the earth, let alone their “tusks”. Now their tusks have been transformed into 

billiard balls. They are now being hit in billiard game instead of hitting others. Grizzly bear “whose potent hug was feared by all” has turned into 

rugs, and Charlemagne the Just‟s sword has rusted. Similarly, a most influential person of his time Julius Caesar is present now but as a bust in 

the cupboard of the poet. Who had thought that such a great warrior would become a showpiece having no arms and legs? It‟s such differences 

between what happens actually and what is expected that create irony in the poem. 

The Gardener 

Rudyard Kipling 

Q. 1. What is the real relation between Helen and Michael? 

The real relation between Helen and Michael is that he is her own biological son whom she gave birth far away from her village in 

France probably in its southern town Marseilles. He was not her nephew-the son her brother George – as she had introduced him in her village at 

first. She told that lie in order to save her image and prestige in society. At that time pregnancy before marriage was a matter of disgrace and 

unmarried mothers were not socially accepted especially in countryside in England. 

Q. 2. What is the truth behind each of the lies Helen tells the village at the beginning of the story? Why does she tell these lies? 

Ans. Miss Helen Turrell tells the villagers that Michael Turrell is her nephew, who was born in India from an illegal affair between her 

brother, George Turrell, and an Indian woman. She also reports that when was she in France to cure her lung trouble she made necessary 

arrangements to bring the child from India and took care of the child for its better future. 

 However, the reality is something else. Michael is her own son and she went to France to give birth to him. She didn‟t suffer from lung 

trouble. 

 She tells the village lies because she is afraid of her social prestige. Nobody in the society would respect her if they knew the truth 

behind Michael‟s birth. She is unmarried, and a virgin is not supposed to give birth to a baby. Thus, she lies to escape the scornful treatment of 

the society. On the other hand, her lies and hypocritical nature give her the image of an ideal and serene lady. 

3. How do you know who the gardener really is? 

 The gardener is Michael‟s father. This fact is, however, not clearly mentioned by the author; it is rather suggested by the situation in 

the story. The gardener is a mysterious character that emerges abruptly at the end of the story, and quite surprisingly he knows Helen‟s top secret 

about her relation with Michael.  He is not merely a simple gardener who is unknown to a visitor like Helen who comes from far away. If he had 

been only an ordinary gardener unknown, he would not have infinite compassion in his eyes to look at her for the first time in the cemetery. He 

could not know that Michael was her son even if she called him her nephew. 

 In the story she has told no one about her true relation with Michael, and tells the gardener also that she is looking for the grave of her 

nephew Michael. But this omniscient character knows that he is her son, not nephew. This fact can be known only to two persons other than her; 

one - god, and the other -that person who had relation with her and fathered a child with her. To me first possibility seems less likely because I 

don‟t think that a writer of 20th century like Rudyard Kipling will bring god into his story to solve puzzles .The second possibility is stronger in 

the story as it seems more relevant and contextual. Thus, I reach the conclusion that the gardener is none other than the same person who was 

responsible for Helen‟s pregnancy and the birth of Michael.   
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QUESTION TAGS: 

 A question tag is a tag in the form of a question used for the confirmation of the statement already 

made. A tag question consists of a statement and a question tag. It is meant for asking the listener to 

confirm the statement. 

Main points to remember: 

a. A question tag begins with an auxiliary verb. 

  He is a teacher, isn't he? 

b.  In the absence of auxiliary begin the tag with 'do' or 'does' if the verb is in the present and 'did' 

if the verb is in the past. 

We sip coffee, don't we? 

He plays football, doesn't he? 

We won the match, didn't we? 

c.  Affirmative statement has negative tag and negative statement has affirmative tag. 

He loves her, doesn't he? 

She didn't beat her brother, did she? 

d. Statements containing never, seldom, not (n't), none, nobody, nothing, none, hardly, barely, 

scarcely and rarely are treated as negative sentences. So, tags for these are always positive 

(affirmative). 

He never comes here, does he? A barking dog seldom bites, does it? 

e.  In negative tag 'not' must be in contracted (n't) form. 

She sings well, doesn't she? (not- does not she?) 

f.  If the subject of a statement is a noun, use pronoun in the tag. 

Lila dances beautifully, doesn't she? 

g. 'Has', 'have' and 'had' used as main verbs in the statement take 'does', 'do' and 'did' respectively. 

Rama has a bonny daughter, doesn't she? 

-We have some problems, don't we? 

-Pramod had a horrible dream last night, didn't he? 

Note: The same principle applies with the sentences containing - has to, have to and had to. 

-We have to read hard, don't we? 

-Sophiya has to do this, doesn't she? 

-They had to have their meal, didn't they? 

h.  'Used to' in the statement takes did in the tag. 

- Navina used to wet her bed, didn't she? 

i.  'I am...' in the statement becomes aren't I? in the tag. 

-I am a singer, aren't I? 
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(But when the statement with the verb 'am' is negative, the tag is always.- am I?) 

-I am not a singer, am I? 

j.  Imperatives, which often start with main verb like- come, go, have, etc. or don't or please or 

kindly and are meant for more polite requests, take - will you? in the tag. Imperative statements 

talk about command (order), advice and request. Shoot the thief, will you? 

-Don't smoke, will you? 

-Please, don't talk much, will you? 

k.  Let + noun/pronoun (object) + verb changes into- will you? in the tag. 

-Let Ram do this, will you? 

- Let me call them, will you? 

l.  Let's + verb takes 'shall we?" in the tag. 

-Let's have a go, shall we? 

But: Let us takes 'will you?" 

-Let us go now, will you? 

m.  The first letter of the tag is always small. -Ram is my brother, isn't he? (not-Isn't he?) 

n.  After a statement there must be a comma and a query (?) after the tag 

-They are boys, aren aren't they? 

o.  If any of these words - nobody, no one, none, somebody, someone, anyone, anybody, 

everyone, everybody, all (followed by a plural verb) these, those or any plural noun - is used as 

the subject of a sentence, "they" is made the subject and used in the tag. ? 

-Everybody has some problems, don't they 

-Someone is calling us, aren't they? 

-Everyone has done the work, haven't they? 

-Nobody saw me, did they? 

p. If any of these words nothing, every thing, this, that or all (followed by a singular verb) - is 

used as the subject of a statement, "it" is made the subject and used in the tag. All is well, isn't 

it? 

Nothing went wrong, did it? 

q.  If there is 'v' after ('s), start the tag with 'has'. 

-Rita's done the work, hasn't she? 

-She's not come yet, has she? 

r.  If there is a singular noun subject, which is a neuter gender, we use the pronoun 'it' as the subject 

and the tag is written accordingly. The blade is very sharp, isn't it? 

s. If there is 'one' as the subject of a statement, the same 'one' is used in the tag. One should obey 

the elders, shouldn't one? 
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t. If a statement starts from 'there', we use the very 'there' as the subject of the tag. 

-There used to be a pond, didn't there? 

u. 'Dare' and 'need' have these tags: 

-Ram dared not talk to me, dared he? 

-He dare not speak, dare he? 

-You need not weep, need you? 

-You didn't need to speak, did you? 

-He daren't do this work, dare he? 

-Moona dare not appear before me, dare she? 

-She does/did not dare to talk to the principal, does/did she? 

-Shilpa does/did not need to go, does/did she? 

v. Had + better and would + rather always come together. So if there is better after ('d), start the 

tag with 'had' and if there is rather after ('d) is better tag with 'would'. 

-He'd better stop talking, hadn't he? 

-I'd rather stay there, wouldn't I? 

w. If there is v1 after ('d), start the tag with 'would' 

- It'd be pleasant to see her, wouldn't it? 

Note: If ('d) +v' is used to show duty, start the tag with -'should' 

- You'd obey your parents, shouldn't you? 

x. If there is v3 after ('d), start the tag with 'had' 

-He'd kicked the dog, hadn't he? 

y.  If there is present time adverb like now, today -after ('s), start the tag with 'is' and if there is past 

time adverb like- yesterday, last week-start the tag with 'was' 

-Sewa's reading now, isn't she? 

He's killed last week, wasn't he? 

z. If the subject of a sentence starts with Either of............or Neither of.............'they' is made the 

subject and used in the tag. 

Neither of them was my friend, were they? 
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SUBJECT - VERB AGREEMENT 

 The agreement of the verb with its subject is called 'Subject - Verb Agreement. 

 1.  A verb should agree in number and person with the main subject of the sentence. We should use 

a singular verb for a singular subject while a plural verb is used for plural subject. 

(i)     The writer of these two books is dead. 

(ii)    The first three chapters of this book are all about wild plants. 

 2.  Uncountable nouns such as news, advice, information, knowledge, rubbish, furniture, ete, are 

followed by singular verbs. The furniture is made in Nepal. Today's news is good. 

 3. After the words- each, one, every, everyone, everybody, someone, somebody, anyone, 

anybody, no one, nobody, either, neither, many a, one of, more than one, none- a singular 

verb is used. 

  -Somebody is knocking at the door. [Note: A plural verb is used when 'each' follows a plural 

noun or a pronoun.] 

The children, each were given a birthday gift. 

 4.  Both singular and plural verb can be used for collective nouns like- family, staff, team, 

committee, audience, jury, etc.- depending on the context. 

(i) The family is going to have picnic this Sunday. (the group family' this case is considered as a 

single unit) 

(ii) The staff work in a co-operative manner. (staff in this case involves every member of the 

group.)  

 5. When words are added to a singular subject by- as well as, and not, no less than, with, together 

with, accompanied by, along with, in addition to, except, besides, etc. the verb should agree 

with the first subject. 1, as well as my parents am going to emigrate to the Terai. 

 6.  When two subjects are connected by- 'or' either or, neither ..... nor, and not only.... but also, 

the verb should be in agreement with the second subject. 

-Neither you nor I am the winner. 

 7.  A singular verb is used for singular subjects ending in 's' such as crisis, measles, news, 

apparatus, etc. 

-This news is new to us. 

 8.  Depending on the number, we can use either a singular or a plural verb with those nouns for 

which both singular and plural forms are the same. For examples-means, barracks, crossroads, 

series, sheep, deer, etc. 

(i)  There are different means to solve the problem. 

(ii)  This is not an efficient means do solve the problem  
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 9. Nouns like-cattle, people, police,  clergy, gentry, poultry, public, swine, vermin, etc.- 

which are pluralin number but do not have an 's' ending. take a plural verb. 

-The police are investigating the case. 

10.  Singular verb is used after nouns like economics, mathematics, physics gymnastics, politics, 

etc. However a plural verb is used when these words are preceded by possessive adjective or 

articles. 

 (i)  Mathematics is what I am weak in. 

(ii)  Her politics are very radical. 

11.  A plural verb is used when an adjective preceded by 'the' acts as a subject to represent a class of 

people. 

-The rich are willing to help the poor. 

12.  In a relative clause, the verb must agree with the subject that the relative pronoun refers to. 

-Bhuwan, who likes volleyball very much, is one of the school team members 

13.  Words like- clothes, goods, savings, pyjamas, glasses, spectacles, trousers, Himalayas, 

scissors are followed by a plural verb. 

-Your trousers are not loose. 

-The scissors are blunt. 

-The Himalayas are the highest mountain. 

-His spectacles are very expensive. 

14.  A compound subject joined by 'and' takes a plural verb. 

-You and I are are playing. 

-Five and five make ten. 

15.  When several singular subjects represent the same person or thing, or when they form collective 

idea, a singular verb is used. 

(i)  Bread and butter is our daily need. 

(ii)  Truth and honesty is the best policy. 

(iii)  Slow and steady wins the race 

(iv)  Rice and curry is his favourite dish 

(v)  Whisky and soda was on the table. 

(vi)  The crown and glory of life is character. 

(vii)  The horse and cart is at his door. 

16.  After an amount of money, a distance, a weight or a length of time, we normally use a 

singular verb. 

(i)  Eight pounds seems a fair price. 

(ii)  A hundred metres isn't far to swim. 

(iii)  One thousand rupees is not a big amount. 
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(iv)  Ten miles was really a long distance to walk 

(v)  Five litres of milk is sufficient for today. 

 [Here we are talking the amount as a whole, not the individual pounds metres/rupees/miles 

or litres.] 

 17.  When two or more nouns or pronouns in the singular are connected by 'or or 'nor', either .....or, 

neither nor, they take a singular verb. 

(i)  Neither Ram nor Shyam was to be blamed. 

(ii)  Either Gopal or Rupesh has stolen my pen. 

 18.  Nouns qualified by each, every and each and every require a singular verbs 

(i)  Everyday and every night brings its own pleasure. 

(ii)  Every boy and every girl was given prizes. 

(iii)  Every man and woman on this earth has to die one day. 

(iv)  Each of the pupils was present at the meeting yesterday. 

(v)  Each and every country has its own population. 

 19.  When two subjects are joined by 'as well as' the verb agrees in number and person with the first 

one; as. 

-He, as well as they, is ready to jump. 

-My comrades, as well as I, are visiting Dang. 

 20.  If the subject is a title, the name of a book, a clause, a quotation, or other roup of words 

expressing a single idea, the verb is singular. 

-The United States is a rich country. 

-'Hard Times' has been written by Dickens. 

 21.  If the subject of a sentence begins with a fraction, the verb agrees with the noun or pronoun that 

comes after the prepositions. 

(i)  A quarter of it is fresh. 

(ii)  A quarter of them are stale. 

(iii)  Half of it is useful. 

(iv)  Half of them are rotten. 

(Note:- The same principle applies with the phrases: The rest of, majority of, heaps of, most of 

and Lots of.) 

(i)  Lots of medicine has been prepared. 

(ii)  Lots of students have come. 

 22.  If the subject of a sentence begins with 'a number of', the verb is always plural. 

-A number of children are present today, 

(But if the subject begins with "the number of",  the verb is singular.) 

-The number of students in this school has swelled. 
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 23.  Phrases beginning with- A band of, A chain of, A bouquet of, A galaxy of, A series of, A team 

of, A herd of, A bevy of, A set of, A crowd of, A regiment of, A flock of, A class of and A 

batch of- take a singular verb though the word after 'of' is plural. 

(i)  A band of musicians has come. 

(ii)  A series of accidents has taken place. 

 24.  There' can never be the subject of a verb. Hence look for the subject after the verb in the 

sentences beginning with 'there'. 

-There seem to be three lions in the den. 

-There were ten students in our group. 

 25.  The subject of a sentence may begin with anyone of the following phrases: A good deal of, A 

great deal of, A lot of and Some of. In such a situation the verb agrees with the object of the 

preposition 'of'. 

(i)  A good deal of time has been left. 

(ii)  A good deal of efforts are needed. 

 26.  When 'and' connects two or more titles or designations of the same person, the verb is always 

singular. 

-The principal and secretary is on leave. 

(Note: When 'and' connects two or more titles or designations with the article 'the' before each 

of them, the expression refers to two different persons.) 

The verb in such a case is always plural. 

-The principal and the secretary are present. 

 27.  If the subject of a sentence begins with 'None of', the verb is generally plural. 

(i)  None of the candidates have appeared for the test. 

 28.  If 'none' refers to an uncountable noun, the verb is always singular. If it refers to countable noun 

in its plural form, the verb can be either singular or plural. 

(i)  She has been waiting for the salt but none (of it) has arrive we) 

(ii)  Ramu has been waiting for his friends but none (of them) has arrived. 

 29.  The adjectives printed below with the definite article (the) to talk about group of people in a 

particular condition take plural verb. The blind, The sick, The deaf,. The poor, The young, 

The old, The dead, The brave, The coward. The handicapped. The unemployed. 

-The rich are selfish. 

-The unemployed are restless. 

 30.  The nationality words printed below ending in 'sh' or 'ch' or 'ese' with the definite article (the) 

take a plural verb. 

-The British, The English, The French, The Irish, The Dutch, The Chinese 
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(i)  The British have a long history. 

(ii)  The Chinese are strong-willed. 

 31.  The collocation 'More than one' is treated as a compound of one. As a singular noun it is 

followed by a singular verb. 

(i)  More than one mango was eaten. 

(ii)  More than one examinee was expelled. 

 32.  In the sentence pattern: more + plural noun + than one... the verb is always plural. 

-More patients than one have died. 

 33.  In expressions where the same singular noun is joined by a preposition (singular noun + 

preposition) the verb used is always singular. 

(i)  Ship after ship is heading towards the shore. 

(ii)  Letter after letter pinpoints the need for hard work. 

 34.  When clauses are introduced by the relative pronouns who, whom, whose. which or that, the 

verb agrees with the antecedent of the relative pronoun in person and number.  

  (i)  Let me make a list of things that are required. 

(ii)  I like a girl who shows intelligence. 

Below are the nouns, which are plural in form but singular in meaning. They nearly always 

require singular verbs. 

economics, ethics, news, dynamics, gallows, optics, elvics, molasses, phonetics, acoustics, 

gymnastics, physics, Algiers, measles, poetics, analytics, mathematics, politics, athletics, 

magnetics, rickets, bellows, innings, statistics, hydraulics, summons, comics, linguistics, tactics, 

classics, aesthetics, The United States, Athens, mumps, The United Nations, mechanics, 

aeronautics, Naples, Wales 
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CORRECT TENSE 

 Tense means time. It is a form of a verb which shows the time of an action and its degree of 

completeness. 

 There are three main tenses Present, Past and Future. 

 A. Present Tense indicates that the action is done at the present time, as, 

 -My brother helps me in my work. 

B.  Past Tense indicates that the action was done in the past, as, 

 -My brother helped me in my work. 

C.  Future Tense indicates that the action will be done in the future; as, 

  -My brother will help me in my work. 

Each of the three main tenses has four forms. 

(Study the following general use of tenses along with the four forms of each.) 

 

GENERAL USE OF TENSES: 

 

A.  PRESENT TENSE 

 a. Simple Present Tense (s. +v1/v5 +...): 

  This tense is used: 

  i. to denote habitual action and universal/general truth 

   -She drinks a cup of tea everyday. 

   -The sun rises in the east. 

  ii. to express a time-table for near future (time-table and travel arrangement) Nirendra flies to 

London on the 8th of this month. 

  iii. with adverbials such as every day/week/month/year, these days, nowadays, always, never, 

often, sometimes, seldom, rarely, usually, generally and occasionally. 

-A barking dog seldom bites. 

 b. Present Continuous (S+ am/is/are + v4 + ...): 

  i.  It is also known as real present. It denotes an action which is happening now, normally with 

adverbials such as now, still and at present. 

-It's still raining. 

  ii.  With word like Look! Listen! Hark! Used at the beginning of a statement to draw attention. 

-Listen! Someone is knocking at the door. 

  iii.  It is also used as an immediate future. She is taking the exams next week. 

 c.  A Present Perfect (s. + has/have + v3 + ...): 

  i.  It expresses the completion or perfection of an action by now. It is normally used with just, 

already, yet, recently, lately and ever. 
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-He has already gone. 

-Has she been here lately recently? 

-She has not been here lately/recently. 

  ii.  With for period of time and since + point of time. 

-Smriti has been sick for three days. 

-They have remained absent since last Monday. 

  iii.  With the verb 'be'+ 'to' in a sense of gone and come back. 

-I have been to Nepalgunj twice. 

-Have you been to Dharan? 

  iv.  In the first sentence of the two sentences in which the action is performed in the first and its 

effect is on the second. 

-Isha has dropped a glass and the pieces are scattered on the floor. 

 d.  Present Perfect Continuous (S+ has/have been+v4+...............): 

  It expresses an action beginning in the past and still continuing at the present moment. 

  i.  It is normally used with for period of time and since point of time. 

-Asmita has been reading in this school for nine years. 

-I have been living in Kathmandu since 2053. 

  ii.  With 'all, all this, all the'+ adverbials for emphasis. 

-Ishwori has been dancing all this evening. 

B.  PAST TENSE 

 a.  Simple Past (s.+v2+.....) 

  It indicates an action completed in the past and which has no relation with the present. It is 

generally used with adverbials like "yesterday, ago, last Monday/week/month, year, the other 

day, these days, in the past, just now, afterwards, at last, in 1950, in 2050," etc. denoting past 

time. 

  -His father died last month.  

  -Binod went just now. 

  (Recently- when used in simple past means a short time ago] 

  -She left recently-She left a short time ago. 

 b.  Past Continuous Tense (s. + was/were + v4 +...):  

  It is used normally for continuous action in the past. 

-Boys were playing football. 

 c.  Past Perfect (s. + had + v3+...): 

  It is used in the following situations. 

  i.  Between the two past actions it denotes that the first of the two actions was completed in the 

past. 
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-Sushil had locked the door before he went out. 

-When the policeman came, the thief had run away. 

  ii.  It is used in 'Indirect Speech' for simple past or present perfect of 'Direct Speech'. 

-Ramlal said, "I ate my meal". 

=Ramlal said that he had eaten his meal. 

-The students said, "We have done our homework". 

=The students said that they had done their homework. 

  iii.  It is used with 'till/until' and 'before' while giving emphasis for an action completed or 

assumed to be completed. 

- She refused to go till she had finished her homework. 

-Before they had finished their meal, the captain called 

  iv.  After the word 'after' we generally use perfect tense. the 

-After the work had been completed, they went home. 

 d.  Past Perfect Continuous (S+ had + been + v4+...):  

  It is used to denote an action that began in the past and continued for a longer period of time 

compared to past perfect. 

-Bindu had been teaching for two years. 

C.  FUTURE TENSE 

 a. Simple Future (S will/shall + v1+ ...): 

It is used for future action which the speaker thinks will certainly happ It is used with 

adverbials such as tomorrow, soon, tonight, the day at tomorrow, surely, certainly, 

positively, without fail, next Monday/week/month/year, etc. 

-They will come to meet me tonight. 

 b.  Future Continuous (S+ will/shall+ be+ v4 +...):  

  It is used to denote a future action which continues to happen for sometime. 

-I shall be writing a letter. 

-Mira will be reading. 

 c.  Future Perfect (S + will/shall + have+ v3+...):  

  It is used to denote an action, which at a given time in future will be completed or will just have 

finished. It is used with by/before + point of time and in + period of time. 

-We shall have used up raw materials by 2010 A.D. 

-In two years' time. I shall have passed the S.L.C. exam. 

(Future time with - 'in the year') 

- In the year 2065 B.S. I shall have gone to America. 
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 d.  Future Perfect Continuous (S+ will/shall + have + been + v4+ ...);  

  It is used to denote an action represented as being in progress over a period of time that will end 

in the future. It is used with in/by+ future point of time and 'for' + period of time. 

-By next year, they will have been reading in this school for six years. 

 

PAST TENSE ('WHEN' - PATTERNS) 

 A.  We use 'simple past + simple past' to show that both actions took place at the same time and 

also to show that the action in 'Main' clause took place because of the action in 'When' clause. 

- When the teacher came, the boys stood up. 

- When Mohan pushed Binod, he fell into the well. 

 B.  We use simple past (in when clause) + past continuous (in main clause) when the action in 

main clause starts before the action in when clause and continues until the time that the action 

takes place in 'when' clause; which doesn't let us know about the beginning and end of the action. 

-When I woke up in the morning, it was raining. 

 C.  We use past continuous + past continuous to refer to two past actions in progress at the same 

time. 

-I was watching the television while she was cooking. 

 D.  We use simple past (in when clause) + past perfect (in main clause) to show that the action in 

'main' clause took place before the action in 'when' clause. 

-When the doctor came, the patient had died. 
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VOICE CHANGE 

 

A.  The passive voice is formed with the verb 'be' +V3 

When the verb is transformed from the active voice to the passive voice, the object of the 

transitive verb in the Active Voice becomes the subject of the verb in the Passive. 

Active: He killed a snake 

Passive: A snake was killed by him. 

Active Sumnima writes an L.L. 

Passive: An L.L. is written by Sumnima. 

B.  The hazy or vague subject (doer) like - someone, somebody, no one, none, nobody, anyone, 

anybody, everyone, everybody, etc. is not mentioned in the passive. 

 Active: No one saw me 

Passive: I was not seen. 

C.  A large number of transitive verbs take two objects - Direct and Indirect -in the Active voice. 

The passive of such objects can be made in two ways.  

 However, it is more usual to make the indirect object the new subject of the passive verb (see sentence 

'a' below). 

Active: Bhuwan gave me a thousand rupee note. 

Passive:  

  (a) I was given a thousand rupee note by Bhuwan. (more usual) 

  (b)  A thousand rupee note was given to me by Bhuwan. 

D.  The Active imperative Le. V+O.(command/order) becomes - Let + object+be+vor - You are 

ordered to + v + 0. or O. + should + be + V (if the sentence is meant to show duty) and (request) 

You are requested to+V+O.- in the passive. 

Active: Open the door. (command) 

Passive: Let the door be opened/You are ordered to open the door. 

Active Don't pluck flowers. 

Passive: Let flowers not be plucked. 

Active: Obey your parents. 

Passive: Your parents should be obeyed. 

Active: Please, help me. (request) 

Passive: You are requested to help me. 

E.  When the agent is not mentioned in the passive voice, it must be supplied in the Active Voice. 

Passive: Two lions have been killed. 

Active: Someone has killed two lions. 
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Passive: He was not invited. 

Active: Nobody invited him. 

F.  While changing a prepositional verb from Active to Passive Voice, the preposition should not be 

dropped.  

 Active: Sagar laughed at the beggar. 

Passive: The beggar was laughed at by Sagar. 

 

G.  With some verbs in the passive instead of by some other prepositions can be used. Some of such verbs 

are-  

 a.  know, marry  

 b.  please, satisfy, cover, dissatisfy, displease, overgrow, disgust, crowed, throng, line, kill,  

 c.  astonishe, surprise, shock, agitate, vex, annoy, disappoint, alarm and rejoice. 

Use the preposition 'to' with the verbs at number a, 

'with' with the verb at 'b' and 'at' with the verbs at c. 

Active: All know L.P. Devkota, 

Passive: L.P. Devkota is known to all. 

Active: His works satisfies me. 

Passive: I am satisfied with his work. 

Active: The news surprised us. 

Passive: We were surprised at the news. 

H.  In passive voice after the words-say, believe, know, understand, think, claims, consider, assume, 

estimate, decide, presume, hope, agree, feel, report, find and acknowledge-two forms can be kept- 

a. that clause and b. Infinitive. 

Active: People say that he is a thief. 

Passive:  

 a.  It is said that he is a thief. 

 b.  He is said to be a thief. 

Active: People believe that Rajesh Hamal is a successful actor. 

Passive:  

 a.  It is believed that Rajesh Hamal is a successful actor. 

b.  Rajesh Hamal is believed to be a successful actor. 

(Note: Perfect Infinitive is used if our thought shows some connection with previous action) 

Active: People know that Gorey was a thief. 

Passive:  

 a.  It is known that Gorey was a thief.        
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 b.  Gorey is known to have been a thief. 

Active: People believed that he was a murderer. 

Passive:  

 a.  It was believed that he was a murderer. 

b.  He was believed to have been a murderer. 

In changing Active sentences in to Passive and vice versa follow the following formulas. 

Active 

1.  S. + V1/V5 + O. = O. + am/is/are + V3 + by +S. 

  Active: Sanu-eats apples. 

  Passive: Apples are eaten by Sanu. 

 2.  Do/Does + S +V1+O+? 

  =Am/Is/Are+O +V³ +by+S+? 

  Active: Do we eat meat? 

  Passive: Is meat eaten (by us)? 

 3. S.am/is/are + V + O  

  =  O + am/is/are + being + V³ + by + S 

  Active: I am penning a letter. 

  Passive: A letter is being penned by me. 

 4.  Am/Is/Are + S + V4 + O?   

  = Am/ls/Are + O + being + V
3
 + by + S. 

  Active: Is she calling them? 

  Passive: Are they being called by her? 

5 .  S.+ has/have + V³ + O = O+ has/have+ been + V³+ by +S. 

  Active: He has stolen my books. 

  Passive: My books have been stolen by him. 

6.  Has/Have + s.+v3+o? = Has/Have + O + been + v
3
 + by + s + ? 

  Active: Has he stolen my books? 

  Passive: Have my books been stolen by him? 

7.  S.+V2+O = O+ was/were + V³ + by + S. 

  Active: Mahesh killed a lion. 

  Passive: A lion was killed by Mahesh. 

8.  Did + S. + V' + O.? = Was/Were + O+ V³ + by + S ? 

  Active: Did she invite you? 

  Passive: Were you invited by her? 

 

http://3.s.am/is/are
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9.  S+ was/were + V4 +O   

  = O + was/were + being + V³ + by + S 

Active: Radha was eating bananas. 

Passive: Bananas were being eaten by Radha. 

 10.  Was/Were + S. +V4+O. +? = Was/Were + O + being + V³ + by + S + ? 

Active: Was Ganesh playing marbles? 

Passive: Were marbles being played by Ganesh? 

 11.  S + had + V3 + O = O + had been + V³ + by + S 

Active: He had done the work. 

Passive: The work had been done by him. 

 12.  Had + S + V
3
 + O +?  

  = Had + O + been + V³ + by + S + ? 

Active: Had he called you? 

Passive: Had you been called by him? 

 13.  S+ will/shall/can/may/must + V + O   

  = O + will/shall/ can/may/must+ be + V³+by+ S. 

Active: I shall not beat him. 

Passive: He will not be beaten by me. 

 14.  Will/Shall/Can/May/Must +S.+ V1 +0.+? 

= Will/Shall/Can/May/Must+ O.+be+V³+by+S? 

Active: Shall I do this work? 

Passive: Will this work be done by me? 

 15.  S will/shall + have + V3 + O = O + will/shall + have + been + V³ + by + S 

Active: We shall have done this. 

Passive: This will have been done by us. 

 16.  Will/Shall + S + have + V3 + O + ?  

  =  Will/Shall + O + have + been + V³ + by + S + ? 

Active: Shall I have done it? 

Passive: Will it have been done by me? 

 17.  S + has to /have/had to + V1 + O   = O + has to/ have/had to + be+ V³+ S 

Active: She has to eat these mangoes. 

Passive: These mangoes have to be eaten by her. 

Active: I have to do this work. 

Passive: This work has to be done by me. 

 18.  Who + V5 + 0 + ? = By whom + am/is/are + O + V³ + ?        Or, 

Who + am/is/are + O + v3 + by + ? 
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Active: Who loves me? 

Passive: By whom am I loved? Or, 

               :Who am I loved by? 

Active: Who does this? 

Passive: By whom is this done? Or 

              :Who is this done by? 

 19.  Who + is + V4 + O + ? = By whom + am/is + are + O + being + V³ + ? 

Active: Who is calling us? 

Passive: By whom are we being called? 

 20.  Who + has + V3 + O + ? = By whom+ has/have + O + been + V3 + ? 

Active: Who has stolen my books? 

Passive: By whom have my books been stolen? 

 21.  Who + V2 + 0 + ? = By whom + was/were + O +V² + ? 

Active: Who did this work? 

Passive: By whom was this work done? 

 22.  Who + was + V4 + O + ? = By whom + was/were + being + V+? 

Active: Who was beating them? 

Passive: By whom were they being beaten? 

 23.  Who + had + V³ + O + ? = By whom + had + O + been + V³ + ? 

Active: Who had seen me? 

Passive: By whom had I been seen? 

 24.  Who + will/can/may/must/ should/would/could/might + V1 + O + ?   

  = By whom+ will/shall/can/ may/must/should/would/ could/might + 0 + be + V³ + ? 

Active: Who can do this? 

Passive: By whom can this be done? 

Active: Who will invite me? 

  Passive: By whom shall I be invited? 

 25.  Who + will + have + V³ + O + ?  =  By whom + will/shall + O + have + been + V³ + ? 

Active: Who will have called them? 

Passive: By whom will they have been called? 

 

I. If 'Wh' word (except 'Who') or 'Wh' phrase is used as the subject of an Active sentence the 

same 'Wh' word or 'Wh' phrase is used as the subject of the Passive sentence and other changes 

are made following the ways mentioned earlier. 

Active. What does he eat? 

Passive: What is eaten by him? 
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Active: Which book did she buy yesterday? 

Passive: Which book was bought by her yesterday? 

 

DIRECT AND INDIRECT SPEECH 

We report the words of the speaker in two ways. When we use the actual words of the speaker, we 

use 'Direct Speech'; but when we report what the speaker said in our own words, we use 'Indirect 

Speech'. 

Ram said, "I ate rice." (Direct Speech.) 

Ram said that he had eaten rice. (Indirect Speech.) 

 

There are two parts in a Direct Speech -- Reporting Verb and Reported Speech. The part before 

comma is called R. V. and the part inside inverted comma (" ") is called R. S. See the following 

sentence. 

 

Maya said, "I dance well." 

R. V.                        R.S. 

Change of Reporting Verb and Use of Connectives: 

Kind of Sentences 

 1.  Assertive 

  : R.V.(say says, tells, said, told) 

  : Connectives: that 

 2.  Interrogative 

(i)  Yes/No 

R.V. : ask, asks, asked, wanted to know 

Connectives: if/ whether 

(ii)  'Wh' question 

R.V. : ask, asks, asked, wanted to know 

Connectives: Wh-word or Wh- phrase itself. 

 3.  Imperative 

R.V. : told, ordered, advised requested, suggested 

Connectives: to, not to 

 4.  Optative 

R V. : wished, blessed, cursed, prayed 

Connective: that 

 5.  Exclamatory 

R. V. : exclaimed 
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Connective: that 

While changing 'Direct Speech' in to 'Indirect Speech' and vice-versa, three kind of changes are 

made in general. They are: 

A. Change of Tense 

B. Change of Person 

C. Change of Adverb(if any) 

 A.  Change of Tense 

If the Reporting verb is in the present or future tense, the tense of the verb in the Reported speech 

is not changed. 

Direct: Anju says, "I dance well." 

Indirect: Anju says that she dances well. 

Similarly tense doesn't change when universal truth or proverb is reported. 

My father said "Water freezes at 0° Celsius." 

My father said that water freezes at Oº Celsius. 

If the 'Reporting Verb' is in past tense, the tense of the verb in the Reported Speech is changed 

in the following ways. 

 

1.  Direct:  Simple Present (S+ V1/V5+......) 

    Indirect= Simple Past (S+ v²+...) 

2.  Present Continues (S+ am/is/are+V4+......)  =  Past Continuous (s + was/were/v+...) 

3.  Present Perfect (s + has/have+v³+...)  =  Past Perfect (s + had+v3+...) 

4.  Present Perfect Continuous (s +has/have+been+v4+...)  

   = Past Perfect Continuous (s +had+been+v4++...) 

5.  Simple Past (s.+v2+...)   =   Past Perfect (s.+had+v+...) 

6.  Past Continuous (s.+was/were+v4+...)  =    Past Perfect Continuous (s.+had/been+v4+...) 

7.  Past Perfect (s.+had+v3+...)  =  No Change 

8.  Will/Shall/Can/May =   would/should/could/might 

9.  Must+v1+... (if used to show duty)   =   must+v1+... 

10.  Must+v1+..  (if used to show any need /s of the present)  =  had to +v1+... 

 11.  Must+v1+..... (if used to show any need /s of the future) = would have to+v¹+... 

 12.  Must not+v1+.. (if used to show prohibition)  =  was not to/were not to+v1+... 

 13.  Need not+v1+...  (If used to show any need /s of the future) =  would not have to+v'+... 

 14.  Would/Should/Could/Might  =  No change 

 15.  had better/ought to/ used to =  No change 

B.  Changes of Personal Pronouns: 

 The first and second person in 'Direct Speech ' may change in 'Indirect Speech.'  
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 The 1st person (I, We) in Direct speech changes according to the subject of the reporting verb. 

 The 2nd person (we) changes according to the object of the reporting verb.  

 The 3rd person (he, she, it, they) doesn't  change. 

 In short-1/S. 2/0.3/Ν. 

C.  Change of Adverb 

 Direct           -   Indirect 

 now               -   then 

 here                -  there 

 ago                 -  before 

 today              -  that day 

 tonight             -  that night 

 hence             -   thence 

 thus                 -   so 

 yesterday  the day before/the previous day   

 yesterday + noun  the previous vious + noun the day  

 before yesterday  -two days before  

 last week/month  = the previous week/month    (the week/month before) 

   tomorrow the following day/the next day 

 tomorrow + noun   =  the next + noun. 

 the day after tomorrow  = in two days' time 

 next week/month    = the following week/month 

 this/these      that/those (if used as a time expression) 

 this/that/these/those   = the (if used as an adj.) 

 this      = it (if used as a pronoun)these/ they/them 

 

 (Note: If the pronoun after 'go' of direct speech changes into the first person in indirect, 'go' of 

 D.S. changes into 'come' in L.S.) 

-Gopal said to me, "She will go to you next week" 

-Gopal told me that she would come to me the following week.  
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IF (CONDITIONAL ) SENTENCES 

 

  IF CLAUSE                  MAIN CLAUSE 

 

 1. s. +v1/v5+...             s + v1/v5 +... 

(condition-cause and effect) 

-If you boil water, it changes into vapour. 

 

 2.  s. + v1/v5+... s + will/shall/can/may/must +v¹+. 

If Sanu calls him, he will go to meet her. 

 

 3.  s. + v² + ...  s + would/should/could/might +v1 + ....... 

- If I had money, I would buy a car. 

 

 4.  s. + had + v³ +..... s + would/should/could/might + have+ v3+..... 

-If they had studied hard, they would have passed the exam. 

 

 5.  had + s + v3+..... s + would/should/could/might + have+ v³ +...... 

-Had he not laboured hard, he would have failed the test. 

 

 6.  s. + v1/v5+..... v1 + (condition-imperative) 

- If you want to pass the exam, work hard. 

 

 7.  Unless + s. + v¹ + ... s + will/shall/can/may/must + not +v¹ + ... 

-Unless we read hard, we can't pass the exam. 

 

[Note: In "if clause" among 'was' and 'were' every subject (singular/plural takes 'were'] 

If she were here, I could explain to her myself.  


